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　　國小 國語科 考試卷 ___年 ___班 座號：___ 姓名：__________

一、選擇題：
 eq \o(\s\do 0(１)) １

 eq \o(\s\do 0(２)) １

 eq \o(\s\do 0(３)) 縶

 eq \o(\s\do 0(４)) ４

 eq \o(\s\do 0(５)) ３

 eq \o(\s\do 0(６)) ４

 eq \o(\s\do 0(７)) １

 eq \o(\s\do 0(８)) ３

 eq \o(\s\do 0(９)) ２

 eq \o(\s\do 3(１),\s\do -3(０)) ４

 eq \o(\s\do 3(１),\s\do -3(１)) ２

 eq \o(\s\do 3(１),\s\do -3(２)) ４

 eq \o(\s\do 3(１),\s\do -3(３)) ２

 eq \o(\s\do 3(１),\s\do -3(４)) ３

 eq \o(\s\do 3(１),\s\do -3(５)) ３

 eq \o(\s\do 3(１),\s\do -3(６)) １

 eq \o(\s\do 3(１),\s\do -3(７)) １

 eq \o(\s\do 3(１),\s\do -3(８)) 縶

 eq \o(\s\do 3(１),\s\do -3(９)) １

 eq \o(\s\do 3(２),\s\do -3(０)) ２

 eq \o(\s\do 3(２),\s\do -3(１)) ３

 eq \o(\s\do 3(２),\s\do -3(２)) ４

 eq \o(\s\do 3(２),\s\do -3(３)) ２

 eq \o(\s\do 3(２),\s\do -3(４)) １

 eq \o(\s\do 3(２),\s\do -3(５)) ３

 eq \o(\s\do 3(２),\s\do -3(６)) ３

 eq \o(\s\do 3(２),\s\do -3(７)) １

 eq \o(\s\do 3(２),\s\do -3(８)) １

 eq \o(\s\do 3(２),\s\do -3(９)) ４

 eq \o(\s\do 3(３),\s\do -3(０)) ３

 eq \o(\s\do 3(３),\s\do -3(１)) １

 eq \o(\s\do 3(３),\s\do -3(２)) ２

 eq \o(\s\do 3(３),\s\do -3(３)) ４

 eq \o(\s\do 3(３),\s\do -3(４)) １

 eq \o(\s\do 3(３),\s\do -3(５)) ４

 eq \o(\s\do 3(３),\s\do -3(６)) １

 eq \o(\s\do 3(３),\s\do -3(７)) ３

 eq \o(\s\do 3(３),\s\do -3(８)) １

 eq \o(\s\do 3(３),\s\do -3(９)) ３

 eq \o(\s\do 3(４),\s\do -3(０)) １

 eq \o(\s\do 3(４),\s\do -3(１)) ２

 eq \o(\s\do 3(４),\s\do -3(２)) １

 eq \o(\s\do 3(４),\s\do -3(３)) ３

 eq \o(\s\do 3(４),\s\do -3(４)) ３

 eq \o(\s\do 3(４),\s\do -3(５)) ３

 eq \o(\s\do 3(４),\s\do -3(６)) ３

 eq \o(\s\do 3(４),\s\do -3(７)) ４

 eq \o(\s\do 3(４),\s\do -3(８)) ３

 eq \o(\s\do 3(４),\s\do -3(９)) ３

 eq \o(\s\do 3(５),\s\do -3(０)) ３

 eq \o(\s\do 3(５),\s\do -3(１)) ２

 eq \o(\s\do 3(５),\s\do -3(２)) １

 eq \o(\s\do 3(５),\s\do -3(３)) ２

 eq \o(\s\do 3(５),\s\do -3(４)) １

 eq \o(\s\do 3(５),\s\do -3(５)) ２

 eq \o(\s\do 3(５),\s\do -3(６)) ４

 eq \o(\s\do 3(５),\s\do -3(７)) ３

 eq \o(\s\do 3(５),\s\do -3(８)) ３

 eq \o(\s\do 3(５),\s\do -3(９)) ４

 eq \o(\s\do 3(６),\s\do -3(０)) ４

 eq \o(\s\do 3(６),\s\do -3(１)) ３

 eq \o(\s\do 3(６),\s\do -3(２)) １

 eq \o(\s\do 3(６),\s\do -3(３)) ３

 eq \o(\s\do 3(６),\s\do -3(４)) ３

 eq \o(\s\do 3(６),\s\do -3(５)) ４

 eq \o(\s\do 3(６),\s\do -3(６)) ４

 eq \o(\s\do 3(６),\s\do -3(７)) １

 eq \o(\s\do 3(６),\s\do -3(８)) １

 eq \o(\s\do 3(６),\s\do -3(９)) ２

 eq \o(\s\do 3(７),\s\do -3(０)) １

 eq \o(\s\do 3(７),\s\do -3(１)) ４

 eq \o(\s\do 3(７),\s\do -3(２)) １

 eq \o(\s\do 3(７),\s\do -3(３)) ３

 eq \o(\s\do 3(７),\s\do -3(４)) ２

 eq \o(\s\do 3(７),\s\do -3(５)) １

 eq \o(\s\do 3(７),\s\do -3(６)) ３

 eq \o(\s\do 3(７),\s\do -3(７)) ３

 eq \o(\s\do 3(７),\s\do -3(８)) １

 eq \o(\s\do 3(７),\s\do -3(９)) ２

 eq \o(\s\do 3(８),\s\do -3(０)) １

 eq \o(\s\do 3(８),\s\do -3(１)) １

 eq \o(\s\do 3(８),\s\do -3(２)) ３

 eq \o(\s\do 3(８),\s\do -3(３)) １

 eq \o(\s\do 3(８),\s\do -3(４)) ２

 eq \o(\s\do 3(８),\s\do -3(５)) ２

 eq \o(\s\do 3(８),\s\do -3(６)) １

 eq \o(\s\do 3(８),\s\do -3(７)) １

 eq \o(\s\do 3(８),\s\do -3(８)) １

 eq \o(\s\do 3(８),\s\do -3(９)) ３

 eq \o(\s\do 3(９),\s\do -3(０)) ２

 eq \o(\s\do 3(９),\s\do -3(１)) ２

 eq \o(\s\do 3(９),\s\do -3(２)) ３

 eq \o(\s\do 3(９),\s\do -3(３)) １

 eq \o(\s\do 3(９),\s\do -3(４)) ３

 eq \o(\s\do 3(９),\s\do -3(５)) ４

 eq \o(\s\do 3(９),\s\do -3(６)) ２

 eq \o(\s\do 3(９),\s\do -3(７)) １

 eq \o(\s\do 3(９),\s\do -3(８)) ３

 eq \o(\s\do 3(９),\s\do -3(９)) ２

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(０)) ３

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(１)) ２

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(２)) ２

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(３)) １

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(４)) ３

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(５)) ３

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(６)) １

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(７)) ４

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(８)) ３

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(９)) ３

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(０)) ２

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(１)) １

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(２)) ３

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(３)) ４

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(４)) ２

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(５)) １

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(６)) １

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(７)) ３

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(８)) １

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(９)) ２

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(０)) ３

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(１)) ４

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(２)) １

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(３)) ２

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(４)) ３

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(５)) ４

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(６)) ４

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(７)) ２

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(８)) ２

 eq \o(\s\do 5(１),\s\do 0(２),\s\do -5(９)) ３

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(０)) ３

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(１)) ３

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(２)) ２

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(３)) ３

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(４)) ３

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(５)) １

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(６)) １

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(７)) １

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(８)) ４

 eq \o(\s\do 5(１),\s\do 0(３),\s\do -5(９)) １

 eq \o(\s\do 5(１),\s\do 0(４),\s\do -5(０)) ３

 eq \o(\s\do 5(１),\s\do 0(４),\s\do -5(１)) １

 eq \o(\s\do 5(１),\s\do 0(４),\s\do -5(２)) ２

 eq \o(\s\do 5(１),\s\do 0(４),\s\do -5(３)) １

 eq \o(\s\do 5(１),\s\do 0(４),\s\do -5(４)) １

 eq \o(\s\do 5(１),\s\do 0(４),\s\do -5(５)) ４

 eq \o(\s\do 5(１),\s\do 0(４),\s\do -5(６)) ２

二、字詞義測驗：
 eq \o(\s\do 0(１)) ２

 eq \o(\s\do 0(２)) ２

 eq \o(\s\do 0(３)) ２

 eq \o(\s\do 0(４)) ４

 eq \o(\s\do 0(５)) ２

 eq \o(\s\do 0(６)) ２

 eq \o(\s\do 0(７)) ４

 eq \o(\s\do 0(８)) １

 eq \o(\s\do 0(９)) １

 eq \o(\s\do 3(１),\s\do -3(０)) １

 eq \o(\s\do 3(１),\s\do -3(１)) １

 eq \o(\s\do 3(１),\s\do -3(２)) ３

 eq \o(\s\do 3(１),\s\do -3(３)) ４

 eq \o(\s\do 3(１),\s\do -3(４)) ２

 eq \o(\s\do 3(１),\s\do -3(５)) ２

 eq \o(\s\do 3(１),\s\do -3(６)) ２

 eq \o(\s\do 3(１),\s\do -3(７)) ２

 eq \o(\s\do 3(１),\s\do -3(８)) ３

 eq \o(\s\do 3(１),\s\do -3(９)) ３

 eq \o(\s\do 3(２),\s\do -3(０)) ３

 eq \o(\s\do 3(２),\s\do -3(１)) ２

 eq \o(\s\do 3(２),\s\do -3(２)) 縶

 eq \o(\s\do 3(２),\s\do -3(３)) １

 eq \o(\s\do 3(２),\s\do -3(４)) ３

 eq \o(\s\do 3(２),\s\do -3(５)) ３

 eq \o(\s\do 3(２),\s\do -3(６)) ４

 eq \o(\s\do 3(２),\s\do -3(７)) ３

 eq \o(\s\do 3(２),\s\do -3(８)) ２

 eq \o(\s\do 3(２),\s\do -3(９)) ２

 eq \o(\s\do 3(３),\s\do -3(０)) 縶

 eq \o(\s\do 3(３),\s\do -3(１)) ４

 eq \o(\s\do 3(３),\s\do -3(２)) １

 eq \o(\s\do 3(３),\s\do -3(３)) １

 eq \o(\s\do 3(３),\s\do -3(４)) １

 eq \o(\s\do 3(３),\s\do -3(５)) ２

 eq \o(\s\do 3(３),\s\do -3(６)) ２

 eq \o(\s\do 3(３),\s\do -3(７)) ２

 eq \o(\s\do 3(３),\s\do -3(８)) ２

 eq \o(\s\do 3(３),\s\do -3(９)) ２

 eq \o(\s\do 3(４),\s\do -3(０)) ３

 eq \o(\s\do 3(４),\s\do -3(１)) ２

 eq \o(\s\do 3(４),\s\do -3(２)) ３

 eq \o(\s\do 3(４),\s\do -3(３)) ３

 eq \o(\s\do 3(４),\s\do -3(４)) ３

 eq \o(\s\do 3(４),\s\do -3(５)) １

 eq \o(\s\do 3(４),\s\do -3(６)) 縶

 eq \o(\s\do 3(４),\s\do -3(７)) ２

 eq \o(\s\do 3(４),\s\do -3(８)) ３

 eq \o(\s\do 3(４),\s\do -3(９)) １

 eq \o(\s\do 3(５),\s\do -3(０)) ２

 eq \o(\s\do 3(５),\s\do -3(１)) ３

 eq \o(\s\do 3(５),\s\do -3(２)) ２

 eq \o(\s\do 3(５),\s\do -3(３)) １

 eq \o(\s\do 3(５),\s\do -3(４)) ４

 eq \o(\s\do 3(５),\s\do -3(５)) １

 eq \o(\s\do 3(５),\s\do -3(６)) １

 eq \o(\s\do 3(５),\s\do -3(７)) ３

 eq \o(\s\do 3(５),\s\do -3(８)) ３

 eq \o(\s\do 3(５),\s\do -3(９)) １

 eq \o(\s\do 3(６),\s\do -3(０)) ３

 eq \o(\s\do 3(６),\s\do -3(１)) ４

 eq \o(\s\do 3(６),\s\do -3(２)) 縶

 eq \o(\s\do 3(６),\s\do -3(３)) ３

 eq \o(\s\do 3(６),\s\do -3(４)) ２

 eq \o(\s\do 3(６),\s\do -3(５)) ２

 eq \o(\s\do 3(６),\s\do -3(６)) １

 eq \o(\s\do 3(６),\s\do -3(７)) １

 eq \o(\s\do 3(６),\s\do -3(８)) １

 eq \o(\s\do 3(６),\s\do -3(９)) １

 eq \o(\s\do 3(７),\s\do -3(０)) ２

 eq \o(\s\do 3(７),\s\do -3(１)) ３

 eq \o(\s\do 3(７),\s\do -3(２)) ２

 eq \o(\s\do 3(７),\s\do -3(３)) ４

 eq \o(\s\do 3(７),\s\do -3(４)) １

 eq \o(\s\do 3(７),\s\do -3(５)) ３

 eq \o(\s\do 3(７),\s\do -3(６)) １

 eq \o(\s\do 3(７),\s\do -3(７)) ３

 eq \o(\s\do 3(７),\s\do -3(８)) ２

 eq \o(\s\do 3(７),\s\do -3(９)) １

 eq \o(\s\do 3(８),\s\do -3(０)) １

 eq \o(\s\do 3(８),\s\do -3(１)) １

 eq \o(\s\do 3(８),\s\do -3(２)) ２

 eq \o(\s\do 3(８),\s\do -3(３)) １

 eq \o(\s\do 3(８),\s\do -3(４)) １

 eq \o(\s\do 3(８),\s\do -3(５)) １

 eq \o(\s\do 3(８),\s\do -3(６)) １

 eq \o(\s\do 3(８),\s\do -3(７)) ２

 eq \o(\s\do 3(８),\s\do -3(８)) ２

 eq \o(\s\do 3(８),\s\do -3(９)) 縶

 eq \o(\s\do 3(９),\s\do -3(０)) ４

 eq \o(\s\do 3(９),\s\do -3(１)) １

 eq \o(\s\do 3(９),\s\do -3(２)) １

 eq \o(\s\do 3(９),\s\do -3(３)) ４

 eq \o(\s\do 3(９),\s\do -3(４)) １

 eq \o(\s\do 3(９),\s\do -3(５)) 縶

 eq \o(\s\do 3(９),\s\do -3(６)) ３

 eq \o(\s\do 3(９),\s\do -3(７)) ３

 eq \o(\s\do 3(９),\s\do -3(８)) １

 eq \o(\s\do 3(９),\s\do -3(９)) １

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(０)) ２

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(１)) ２

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(２)) ２

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(３)) ４

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(４)) ４

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(５)) 縶

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(６)) ２

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(７)) ２

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(８)) １

 eq \o(\s\do 5(１),\s\do 0(０),\s\do -5(９)) １

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(０)) ２

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(１)) １

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(２)) ２

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(３)) ２

 eq \o(\s\do 5(１),\s\do 0(１),\s\do -5(４)) ２

三、課文文意測驗：
 eq \o(\s\do 0(１)) １

 eq \o(\s\do 0(２)) ３

 eq \o(\s\do 0(３)) 縶

 eq \o(\s\do 0(４)) ３

 eq \o(\s\do 0(５)) ３

 eq \o(\s\do 0(６)) 縶

 eq \o(\s\do 0(７)) ２

 eq \o(\s\do 0(８)) １

 eq \o(\s\do 0(９)) ２

 eq \o(\s\do 3(１),\s\do -3(０)) ３

 eq \o(\s\do 3(１),\s\do -3(１)) ４

 eq \o(\s\do 3(１),\s\do -3(２)) ３

 eq \o(\s\do 3(１),\s\do -3(３)) ２

 eq \o(\s\do 3(１),\s\do -3(４)) ２

 eq \o(\s\do 3(１),\s\do -3(５)) ３

 eq \o(\s\do 3(１),\s\do -3(６)) ２

 eq \o(\s\do 3(１),\s\do -3(７)) １

 eq \o(\s\do 3(１),\s\do -3(８)) ４

 eq \o(\s\do 3(１),\s\do -3(９)) １

 eq \o(\s\do 3(２),\s\do -3(０)) １

 eq \o(\s\do 3(２),\s\do -3(１)) ３

 eq \o(\s\do 3(２),\s\do -3(２)) １

 eq \o(\s\do 3(２),\s\do -3(３)) ３

 eq \o(\s\do 3(２),\s\do -3(４)) ２

 eq \o(\s\do 3(２),\s\do -3(５)) ２

 eq \o(\s\do 3(２),\s\do -3(６)) 縶

 eq \o(\s\do 3(２),\s\do -3(７)) １

 eq \o(\s\do 3(２),\s\do -3(８)) ２

 eq \o(\s\do 3(２),\s\do -3(９)) ２

 eq \o(\s\do 3(３),\s\do -3(０)) 縶

 eq \o(\s\do 3(３),\s\do -3(１)) １

 eq \o(\s\do 3(３),\s\do -3(２)) １

 eq \o(\s\do 3(３),\s\do -3(３)) ２

 eq \o(\s\do 3(３),\s\do -3(４)) ２

 eq \o(\s\do 3(３),\s\do -3(５)) ２

 eq \o(\s\do 3(３),\s\do -3(６)) １

 eq \o(\s\do 3(３),\s\do -3(７)) ４

 eq \o(\s\do 3(３),\s\do -3(８)) ２

 eq \o(\s\do 3(３),\s\do -3(９)) １

 eq \o(\s\do 3(４),\s\do -3(０)) ３

 eq \o(\s\do 3(４),\s\do -3(１)) ２

 eq \o(\s\do 3(４),\s\do -3(２)) ４

 eq \o(\s\do 3(４),\s\do -3(３)) ２

 eq \o(\s\do 3(４),\s\do -3(４)) １

 eq \o(\s\do 3(４),\s\do -3(５)) ４

四、選出正確的答案：
 eq \o(\s\do 0(１)) １

 eq \o(\s\do 0(２)) ３

 eq \o(\s\do 0(３)) ２

 eq \o(\s\do 0(４)) ２

 eq \o(\s\do 0(５)) ２

 eq \o(\s\do 0(６)) ４

 eq \o(\s\do 0(７)) ３

 eq \o(\s\do 0(８)) ２

 eq \o(\s\do 0(９)) ４

 eq \o(\s\do 3(１),\s\do -3(０)) １

 eq \o(\s\do 3(１),\s\do -3(１)) ２

 eq \o(\s\do 3(１),\s\do -3(２)) １

 eq \o(\s\do 3(１),\s\do -3(３)) ３

 eq \o(\s\do 3(１),\s\do -3(４)) ３

 eq \o(\s\do 3(１),\s\do -3(５)) ２

 eq \o(\s\do 3(１),\s\do -3(６)) ２

 eq \o(\s\do 3(１),\s\do -3(７)) ３

 eq \o(\s\do 3(１),\s\do -3(８)) ４

 eq \o(\s\do 3(１),\s\do -3(９)) ２

 eq \o(\s\do 3(２),\s\do -3(０)) ２

 eq \o(\s\do 3(２),\s\do -3(１)) ４

 eq \o(\s\do 3(２),\s\do -3(２)) ２

 eq \o(\s\do 3(２),\s\do -3(３)) ３

 eq \o(\s\do 3(２),\s\do -3(４)) ３

 eq \o(\s\do 3(２),\s\do -3(５)) ２

 eq \o(\s\do 3(２),\s\do -3(６)) ３

 eq \o(\s\do 3(２),\s\do -3(７)) ２

 eq \o(\s\do 3(２),\s\do -3(８)) １

 eq \o(\s\do 3(２),\s\do -3(９)) １

 eq \o(\s\do 3(３),\s\do -3(０)) ２

 eq \o(\s\do 3(３),\s\do -3(１)) ３

 eq \o(\s\do 3(３),\s\do -3(２)) ２

 eq \o(\s\do 3(３),\s\do -3(３)) ４

 eq \o(\s\do 3(３),\s\do -3(４)) ３

 eq \o(\s\do 3(３),\s\do -3(５)) ２

 eq \o(\s\do 3(３),\s\do -3(６)) ４

 eq \o(\s\do 3(３),\s\do -3(７)) ２

 eq \o(\s\do 3(３),\s\do -3(８)) １

 eq \o(\s\do 3(３),\s\do -3(９)) ２

 eq \o(\s\do 3(４),\s\do -3(０)) ２

 eq \o(\s\do 3(４),\s\do -3(１)) ３

 eq \o(\s\do 3(４),\s\do -3(２)) ４
 eq \o(\s\do 3(４),\s\do -3(３)) １

 eq \o(\s\do 3(４),\s\do -3(４)) ３

 eq \o(\s\do 3(４),\s\do -3(５)) ３

 eq \o(\s\do 3(４),\s\do -3(６)) １

 eq \o(\s\do 3(４),\s\do -3(７)) ４
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